You

YouGov Survey Results What the world thinks

Sample Size: 2067 GB Adults
Fieldwork: 25th - 26th November 2014

Westminster VI 2010 Vote Gender Age Social Grade Region
Lib Lib Rest of |Midlands /
Total | Con | Lab UKIP | Con | Lab Male | Female | 18-24 | 25-39 | 40-59 | 60+ | ABC1 | C2DE | London North | Scotland
Dem Dem South | Wales

Weighted Sample| 2067 | X X X X 1618506 | 403 |1002| 1065 [ 246 | 523 | 707 | 5911178 | 889 265 672 442 508 180

% % % % % % % % % % % % % % % % % % % % %
In general do you think the minimum wage in the UK is too
low or too high?
ltisfartoolow 34 | 19 45 25 41|23 45 35| 33 34 25 28 38 37| 28 42 33 32 34 34 42
Itis slightlytoolow 37 | 37 39 41 35|37 38 36| 35 38 37 37 38 35| 38 35 38 36 36 38 36
The current level is about right 20 | 35 10 24 15|30 12 22 | 21 19 18 21 17 22| 24 14 20 21 20 19 15
It is slightly too high 2 4 1 5 3 4 1 1 3 2 2 3 2 2 3 1 1 2 4 3 2
There should be no minimum wage 1 2 1 0 4 2 1 1 2 1 2 1 1 2 2 1 1 2 1 2 0
Don't know 6 4 5 6 3 4 4 6 7 6 16 9 4 3 5 7 6 7 6 5 6
Do you think the top rate of tax (on those earning over
£150,000) should be...
More than 50p 27 16 40 13 29|20 36 26 | 26 28 20 23 31 28| 24 32 26 26 26 30 31
50p 27 23 31 39 24|24 33 38| 29 25 15 23 30 32| 29 25 23 26 30 25 34
45p 12 17 11 19 10|17 8 11 | 14 11 10 13 12 13| 14 10 11 14 12 11 12
40p 15 24 7 19 21124 11 10 17 14 14 15 15 17| 17 13 13 15 18 16 12
Lessthan40p 6 0 2 3 10| 8 4 4 5 6 9 6 5 5 6 6 7 6 4 8 2
Don't know 12 9 9 7 7 8 9 11 9 16 31 20 7 5 11 15 20 12 11 11 10
In general, do you think that the level of welfare benefits in
the UK is too high or too low?
Fartoolow 8 2 14 5 6 2 12 8 10 7 6 8 1 7 6 11 8 6 9 9 12
Slightly too low 15 4 25 15 17 6 20 18 16 14 13 13 15 16| 12 18 17 13 12 16 16
TOO LOW 23 6 39 20 23 8 32 26 26 21 19 21 26 23 18 29 25 19 21 25 28
The current level is about right 22 19 29 29 17|16 27 25| 21 24 26 21 22 23| 22 23 22 21 22 24 25
Slightly too high 25 | 35 16 32 27|33 20 25| 25 25 22 25 25 25| 29 20 19 28 28 24 17
Fartoo high 21 | 37 7 8 30|38 12 16 | 21 22 13 23 20 25| 23 19 24 22 22 18 21
TOOHIGH 46 72 23 40 57 71 32 41 46 47 35 48 45 50 52 39 43 50 50 42 38
Don't know 9 4 9 11 3 5 9 9 7 10 21 10 7 4 8 9 9 9 7 9 9
Do you think there should be more or less government
redistribution of income from the better off to the less well
off?
Much more 26 7 47 19 26|12 41 31| 30 22 16 22 30 28] 23 30 27 23 23 28 33
Slightly more 30 | 23 33 42 30|26 31 36 | 29 30 26 26 33 31| 30 29 27 29 33 30 29
TOTALMORE 56 30 80 61 56 38 72 67 59 52 42 48 63 59 53 59 54 52 56 58 62
The current balance is about right 22 41 9 25 2033 12 19 | 22 22 17 25 20 23| 24 18 18 25 23 19 16
Slightly less 6 12 1 8 8 |11 3 3 7 6 11 6 7 5 8 4 6 8 4 7 6
Muchless 3 7 1 0 6 7 2 2 5 2 5 3 3 4 4 2 7 2 4 3 2
TOTAL LESS 9 19 2 8 14 18 5 5 12 8 16 9 0 9 12 6 13 10 8 10 8
Don't know 13 10 8 5 10 | 11 11 10 | 8 18 | 25 18 8 9 11 16 16 12 13 12 14
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